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SECTION - A/2%en - &
Answer the following (20 marks each) : (3x20=60) .
NIt ev3d (S3ade00z.m, 20 BoBMW) !

1. (a) Explain the general rules regarding to benefits under Employee State
Insurance Act 1948.

efudj%ehm DI ma’bﬂ , 194809 wdd m:&maﬁs :-’oodo:.furitzifﬁ.gi =020,
Or/eg=e

(b) Explain the different provisions under the Industrial Employment
(Standing order) Act 1946.

g modE ﬁd@scﬁﬁ 5o0d), 194637 v@sndd S30,eH200 7\:’303\3?1%’61)4 3020,

2. (a) Explain the objectives and functions of International Labour
Organization.

eaoSdUa&gab FAUFT Fogredodd efudmcame.b S0y RQDFT\'%*E&ZL Farnte

Or/ »g

(b) Explain the obligations of . the -employers under the Workmen's
Compensation Act 1923.

SORMUC SO0 5a0)), 19230 F5e0 eviaerimesds wogdrid) I30%
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3.

10.

11.

(a) Explain the various benefits available under Maternity benefit Act, 1961.
3368 Ba0d), 19610 227 IodecEmnd®), D=0

Or/eg=e
(b) Explain the obligations of employer and employees under Factories Act,
1948.
swerdnY wod), 19488 IJzes evdAceriwed Herie  esudeen Tedresr
WG InYs) ISR,
SECTION - B/ &wert - @
Answer any six of the following (6 marks each) : (6 x 6 = 36)

B SUNB YY), ARFHTTTR UTR), 3D (33030068, 6 BosTED) :

Explain the different schemes under Provident Fund.
2,53);-% AR 8Babd WS Y Q'Uaeuamv#ﬁbd R0,

Explain the provisions under Payment of bonus Act, 1965.
Weess® TS3ad Feaiobd wids a)uodafri%*di D=0,

What are the features of labour welfare measures?
FIET 60%93 Faodrd meaogmﬁe}abi 392,

Explain the offences and penalties found under Factories Act, 1948.
3mdse 50k, 19487 B50 ¥Z0E S13) BOFT), ISOD.

What are the measures determining amount of gratuity?
o3 3ol BRIy AP BRI R0 adeR)R)?

Explain the liability of an employer for compensation.
0390 Wi AROFTOD vl erma3dn abeST), DI00.

Explain the provisions under Miscellaneous Act, 1952.
‘230 2201, 19520 Quogdnds, H30A.

Write a short note on occupational hazards.
‘Braehs eadbny’ wii 33ed wIod.
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13.

14.

15.

16.

17

18.

19,

20.

SECTION - C/agern - %

Answer any four of the following (3 marks each) : (4 x 3 =12)
BINTF)NYI adRF)meride TeeR), v3dd (B303p0TER, 3 B0BND) :

Write a short note on social security measures.
BPLUT T30 S0HCT wii 3T ed w0,

What are the duties of employer in relation to equal payment?
3308 T8 adeent o, eviAnm3T FIEFNRYT) SR

What are the methods of calculating wages under Workmen’s Compensation
Act?

FORMOT JI0HT 520303 FFT 39 9532590 SRBED TS IFITVIT), 392,

What are the penalties for contravention of Maternity benefit Act, 19617
BRR3 Taad), 1961 ), 0TI vdA rim3nh cuieran FoRIT) 392

What are the principles of labour welfare measures?
BIFT TOY M Fo0F T a’a’aﬁédgl 392, Collegr »¢
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Give the importance of Employees Provident Fund scheme.
‘2.2.05°. '3 B0DIabT), 392

SECTION - D/ayen - &
Answer the following questions (1 mark each) : (12x1= 12)
BINT FB s eu3d2 (J)3adeodse, 1 vov) :

Give the meaning of ‘Social Assistance’.
‘TIRNET AB0'T BPE 3.

Define labour welfare.
‘FodFT0 ﬁoadea’;jﬁqt m?smaa&?o.

Give the meaning of Child labour.
2RO FaAVFT 20V IVT aqﬂrdabd Qeld.
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21,

22,

23.

24.

25.

26.

28.

29,

30.

What is accounting year?
‘S5508 IR Hondesd?

What is seasonal industry?
‘Todineusd QTR HoTveR)?

Give the meaning of wages.
R ITT B 3L

What do you mean by Maternity leave?
‘B0t /3308 0 Hordend?

What is compensation?
‘Z0T0’ dowderd?

What is permanent disablement?
‘5983 Ao HorTeRO?

Give the meaning of accident.
‘UTF3 T EE 392

Who is called as ‘Occupier™?
‘9RPSTWT 0BT 0dTO7

Who is called as dependent?
‘83003 HoBT adRvO?
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